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& i f HE HR FE A% 2H
a—F | fh 4 ik BER (kg) % (M) El il Sl E (BAL)
130100 VT A 1 80 1,264 38 38 12| B 50K
¥s002 =4 (M) T 5,638 1,404 432 432 B Tke

34100 H/K 20 3, 240 32 32 32| By 1004

Y3033 | 2L 30 6, 048 216 216 173 B 30kg
Y3035 FEFRA—AR 130 972 32 32 32| &M 30kg
38100 A LUVl 7 4 4,536 1,206 1,080 1,080 PN 4kg

Y3030 HEAEE (F) 2|  3,456] 1,728] 1,728] 1,728|BM 2kg }
37300 FEET T ] 648 108 108 108 B 74 658

46108 | I AI D HE 3 4,644 540 497 497 B 9y
21032 | FZ&F () | 550 11 11 11 BH 504
130100 [V T A 2L 62  2,502] 54 54 54|ERE 48K
30100 VI A B9 2,160 324 216 162|fERE |98
130300 (AB o 2L 30 4,53 1,512] 1,512] 1,512] & 37 —2
30300 A% M 50 8,100/ 1,620 1,620 1,620 Rk 57 —2A
130300 | AB 'B 48 4,536 76 76 GEG 605 7
31100 B¥ ] 120 4,104 540 540 a2|ERE  [87—A
33810 HHER - N 4 1,296) 65 65 65 FERE  [20%%
31700 | F ¢ ) T 330,  21,492] 972 540 540 | E I Br—R
31800 1EHNAE 7 [ 6 2, 592 86 86 86/ 1 ¥ 3048

31950 HAX 2L 9 3,780 1,206 1,296  1,188/fEK 35— 2
31900 A¥ M 10 2, 160 108 108 108 | BE 2 & 203 (5008)
34300 |72 65 8,802 864 540 540K 134 —R
34400 b b 14| 3,629 76 76 76| fEA 485y s
34100 | #1K 2L 10 1,512 756 756 756 REAS 2r—A
34100  #HK L 70 10, 800 864 756 756 | R B 1447 — A

34500 E—= v ‘ 6 1,161 43 38 38| VR 304%

36200 BHE L 60 11,880 2,160 1,944 1,944 |dtEE 6y — A
38100 | L\ \=iF B I 3 2,225 756 756 713| E e 3 r—A

31500 /MR 7 1 12 3, 564 59, 59 59| fa 60%

37560 |HB8I1F 1 1,350 270 270 270 K%y 5%y

40100 %75 250 18,630 1,080 540 432[ A 254 — X

41430 JL—F T L—> 30 2,592| 1,296  1,296| 1,206 7 7 UH |27 —%

Y4017 H5L | 50 10,152]  2,268] 2,160] 1,728/ £%F 54—
43610 |BAME c | 30 4,536 756 756 756 | 1 6r—=%

48000 |3\ 2 3L 14 2,376)  1,188] 1,188]  1,188/fEA 2f

49100 /SFF | 36 5,076)  1,728] 1,728] 1,620 7 ¢ Vb [34—x

Y5009 34 T iR B 15 3,240 216 216 216|#Ei 8 |15ke
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